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BACHELOR'S DEGREE PROGRAMME 

Term-End Examination 

June, 2013 

ELECTIVE COURSE : ECONOMICS 

EEC-05 : ELEMENTARY MATHEMATICAL 
METHODS IN ECONOMICS 

Time : 2 hours 
	

Maximum Marks : 50 

(Weighhise : 70%) 

Note : Attempt questions from each section as per instructions 

SECTION-A 

Answer any two questions from this section : 2x10=20 

	

1. 	Consider the production function Y=a1_,'1(13  

(a) Find the average productivity of labour as 

a function of L. 	 (3marks) 

(b) Show that marginal productivity is 

proportional to average productivity. 

(7marks) 

[Y = output, L =labour, K =capital] 

	

2. 	Revenue and cost functions of a firm is given as 

R =1200x — 2x2  

C= x3  - 61.25x2 + 1528.5x +2000 

Find the profit maximising output and also the 

profit. 
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3. Use matrix algebra to solve the following system 

of equations 

2a /  + 2a 2  + a3  =1 

3a + a 7  + a3  = 2 

a + a 2  + a 3  = 3 

4. Find the extreme values of the equation 

p Cil q3 	 q + q 3  + 

	+3q3 

Determine which of these values is maximum and 

which is the minimum. 
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SECTION-B 

Answer any three questions from this section : 3x8=24 

5. Find the inverse of the matrix 

[23  57] 

6. Solve the following differential equation 

y2dx — (1— x)dy = 0 

7. If the demand function is P =32— 4q — q2. 

Find the consumer's surplus if b0  =3 

8. Evaluate the following limit 

Lt x  1°g x  
0 

9. Using the general formula for the coefficients an, 

find the Taylor's series at x = 0 for the function 

log (1+x). 
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SECTION-C 
Answer any two questions from this section : 2x3=6 

[ 2 4.-  
10. Find BA if B = 

—1 3 
[1 0 91 

and A = 
6 1 1] 

11. If marginal propensity to import is M'(y) = 0.1 

and we know that M = 20 when Y = 0, find the 

import function M(y). 

1 
12. Solve J (8x3—  2x) dx 

• 0 
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144 "ftt -51-qt dcd 	 : 	2x10=20 

	

1. 	 Y=aLkI3 7 	 1I11k 

(a) L. t 	teo-i 	11:1 	3-1-1-{zrd 3c4-11s'cleicll 

i Ic1 	'11I  

(b) f#1:ifff 3c41 qdr, atTrff 30-11kcif 

W1114Icf t 

\ 	Y = 	, L=3114, 	tl 

	

2. 	Qc 	3T171. 	c1141c1 	: 

R =1200x — 2x2  

C = x3 — 61.25x2  + 1528.5x + 2000 

-wT4 	 TrrzT -11-97Fr 

9.ft llo -w1-f--A7 I 
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3. f f ~ri (Act wi 	*Of fit  	rc-R 

irP74 	-5r-zi'rrr 

2a + 2a2  + a3  

3a + a2  + a3 =2 

a l  + a2  + a3  = 3 

4. tiHt chuf 

p qq3  q2.1 	 q2q3 	
q2, +3q3 

441.-r 	s.TRq̀f-t-or 	 +-IA 14 A.  

-4F TIT 3ifq--*---d.q 	1,1-r Trr 
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5.  

6.  

1.1TTT 	ft-tt7 sTR I 	3x8=24 

oc 

[3  57  2 	] 

f 3Traff qucr 

y2dx — (1 — x)dy =0 

7.  grq 4-114( 410-1 t 

P= 32 — 4q— (42  

34*-4kiT bo  =3 

8.  ThTa 

x logx 
x 	0 

9c-411,-r 

9.  

log (1 

11-01-f . an t  to-7, t 7711T1 	"cF .9 

+ x) 	fri x = 0 ti{ s'Itfff 711d --1F—A7 
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14T7T-TT 

fwt -77-4f 
10. BA *-1F3-iLT, 

2x3=6 

24 	 
B= 	 A - 

-1 3] 

0 9 

6 1 1 

 

11. k 3-11?-11d' 	Fr,•11 Thid 	M'On = 0.1 t 44. 71171 

k m = 20 Yilt Y=0, ?-1-711-d 	 M(y) 	 

"WTI* I 

12. 50 7q;'11,707 1(8.C-- 2x) dx 
0 
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